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Question Title N Mean S D Max Mark F F Attempt %

1ai 7244 0.8 0.4 1 82.6 99.8

1aii 7216 0.8 0.4 1 83.2 99.4

1aiii 7053 1.8 1.2 4 45.9 97.1

1bi 7024 1.5 0.8 3 50.8 96.7

1bii 6618 1.5 1 3 50.1 91.1

1ci 7241 0.9 0.3 1 90.3 99.7

1cii 7142 0.5 0.5 1 50.5 98.4

1ciii 6892 2.8 1.3 6 45.9 94.9

1di 6834 1.3 0.8 2 66.7 94.1

1dii 6721 3 1.6 6 50.4 92.6

2ai 7241 0.8 0.4 1 76.1 99.7

2aii 7139 1.5 0.6 2 75.4 98.3

2aiii 7105 0.5 0.5 1 52 97.8

2aiv 7104 2.5 1.3 4 62.2 97.8

2bi 7173 1.4 0.7 2 69.3 98.8

2bii 7152 1.3 0.8 2 65.1 98.5

2biii 7021 2.7 1.6 6 45 96.7

2ci 6619 0.7 0.8 2 34.6 91.2

2cii 6997 3.8 1.6 8 47.3 96.4

QWC 7094 2.2 0.7 3 73.4 97.7

3ai 4668 1.2 0.8 2 58 64.3

3aii 4017 1.9 1.3 4 47.3 55.3

3aiii 4420 1.8 1 4 44.9 60.9

3bi 4471 1.1 0.5 2 55.7 61.6

3bi 4003 1.2 0.9 2 59.1 55.1

3bi 4414 3.1 1.4 6 51.3 60.8

3bi 4460 2.5 0.9 4 63.2 61.4

3bi 3318 1 0.8 2 50.6 45.7

3bi 3068 2.8 1.4 4 68.8 42.3

3bi 3193 1.6 1.1 4 40.9 44

3bi 3108 1.1 0.5 2 55.5 42.8

3bi 2854 0.8 0.9 2 38.8 39.3

3bi 3004 2.8 1.4 6 47.4 41.4

3bi 3171 2.1 1 4 51.6 43.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Sticky Note

A decision is offered with some justification.



Sticky Note

Alternative viewpoint is developed.



Sticky Note

Viewpoint is justified with accurate interpretation of the resources provided. 



Sticky Note

Argument is clearly made based on the resources as to why the candidate disagrees with the statement.



Sticky Note

A reasoned judgement is made, based on the resources with a range of elaborated points offered to provide evidence. However, there is little consideration of the alternative viewpoint, although briefly made which means that answer lacks balance. There is also a lack of detail which could have been included either through more sophisticated and perceptive discussion of the resources or the inclusion of evidence based on the candidate's own knowledge and understanding. The answer is worthy of band 3 and was awarded 5 marks.
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only


(c) (ii) Study the photographs and the fact box 
below.


Dharavi, a slum in Mumbai, India	 Homeless person in London, UK 


© WJEC CBAC Ltd.


Fact Box


• Mumbai is India’s largest city. It is estimated that around 13 million of the 21
million population live in slums without access to clean water and basic services.


• London is the capital city of the UK. It has a population of 8 million. Despite being
one of the richest cities in the world, around 8,000 people are homeless and
sleep rough.


“The challenges facing all global cities in the 21st century are the same.”


To what extent do you agree with this statement? Make use of evidence from the 
photographs and fact box.	 [8]


The accuracy of your writing will be assessed in your answer to this question.	 [3]












Question 3 (c) 
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(c) Study the photograph below.


Suggest the social impacts of this earthquake on the people of 
Amatrice. Use evidence from the photograph. 
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Use the descriptors below, working 
upwards from the lowest band. 


Band Marks Descriptor 


2 3-4


Elaborated 
statements which 
offer good 
inference from 
the photograph. 
Focus must 
clearly be on 
social impact. 


1 1-2


Simple 
statements 
showing some 
inference from 
the photograph. 


0 


Award 0 marks if 
the answer is 
incorrect or 
wholly irrelevant. 


Candidates are required to apply their knowledge and 
understanding of the impact of earthquakes to interpret 
the photograph by ascribing or inferring meaning to it. 
At the lower level they are likely to refer to the loss of 
homes and the difficulty of rebuilding. More 
sophisticated responses may look at the wider 
community impact in terms of communities working 
together with greater cohesion in the face of adversity. 
Some may refer to the psychological impact and grief 
due to the loss of family as well as the fear of future 
earthquakes and aftershocks. The focus of the answer 
should be on people and communities but it is accepted 
that there is often a blurred distinction between social 
and economic impacts so credit these in as much as 
they affect people for the higher level. For example, 
reference to destruction/loss of businesses need to 
relate to unemployment and the associated social 
problems. Ensure that the focus is on the 
photograph and do not be drawn into awarding 
marks for general knowledge and understanding 
which cannot be inferred in some way from the 
photo. 












Question 3 (c) 



Sticky Note

Candidate has clearly inferred from the photo that the people shown have lost their home and are homeless.



Sticky Note

Overall, this answer is worthy of band 2 showing elaborated inference from the photograph. Reference is to social impact but could have been developed in a little more detail. The answer was awarded 3 marks.












Suggest the social impacts of this earthquake on the people of Amatrice. Use evidence 
from the photograph. [4] 
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Sticky Note

The candidate is clearly referring to the photo and drawing inferences relating to the people shown.



Sticky Note

Statement is further elaborated with some sophistication to demonstrate the wider social impact.



Sticky Note

The candidate has developed the idea of the impact of grief and depresiion on the community.



Sticky Note

Overall, the answer is a good one, worthy of band 2 and was awarded the full 4 marks.












 


 


 



Sticky Note

Comments are of a more general nature and it is not clear that they related to the content of the photo.



Sticky Note

These impacts are social, but it is not clear that they have been inferred from the photo and although they have merit, the answer is only worthy of band 1. It was awarded 2 marks.
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3.  Study the information below. Mount Vesuvius is an active stratovolcano.


N


0 20
km


NaplesQuarto


Sorrento
Amalfi


Ravello


Mount
Vesuvius


Positano
Bomerano


Tyrrhenian Sea


Bay of Naples


I T A LL YY


Key:
1000 -1250 m
750 -1000 m
500 -750 m
250 -500 m
0 -250 m
volcano
town
city


 The Bay of Naples and Mount Vesuvius


Naples and Mount Vesuvius
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only
 Study the information in the table below.


The Richter scale of earthquake magnitude


Magnitude Description Frequency


2.0-2.9
Minor


Generally not felt, but recorded. 1,300,000 per year (est.)


3.0-3.9 Often felt, but rarely causes damage. 130,000 per year (est.)


4.0-4.9 Light
Noticeable shaking of indoor items, rattling 
noises.
Significant damage unlikely.


13,000 per year


5.0-5.9 Moderate
Can cause major damage to poorly 
constructed buildings over small regions. 
Slight damage to well-designed buildings.


1,319 per year


6.0-6.9 Strong
Can cause serious damage to well-
designed buildings. Destructive up to about 
160 kilometres across populated areas.


134 per year


7.0-7.9 Major Can cause serious damage over larger 
areas. 15 per year


8.0-8.9
Great


Can cause serious damage in areas 
several hundred kilometres across. 1 per year


9.0-9.9 Devastating in areas several thousand 
kilometres across. 1 per 10 years
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only
(iii) Explain why an earthquake with magnitude 5.5 (refer to the table on page 16) might


have varying impacts on people in countries at different levels of development.	 [6]
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Question 1 (d)(ii) 
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(d) (ii) Explain why geology and river processes interact to form


waterfalls. You may use an annotated diagram to help your answer.
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Use the descriptors below, working upwards from the 
lowest band.  


Band Marks Descriptor 


3 5-6


Thorough understanding of the 
interrelationship between 
processes and geology to create 
the landform. Explanation is 
detailed. 


Meaning is clear. Response has 
purpose, is organised and well 
structured. 


2 3-4


Some understanding of processes 
and/or geology but lacking in detail 
and explanation not complete or 
the answer is imbalanced. 
However, the answer has some 
merit. 


Meaning is generally clear. The 
response is structured. 


1 1-2


Valid statements showing limited or 
basic understanding.  


Meaning may lack clarity in parts. 
Statements are linked by a basic 
structure. 


0 
Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


The answer might be given in the form 


of a labelled or annotated diagram or a 


combination of this and prose. Where 


this happens, accept both but do not 


double credit. Response should 


demonstrate understanding of the 


formation of a waterfall and the ability 


to explain this with reference to the 


interrelationships between erosion 


processes and geology. At the top level 


there will be reference to processes 


such as hydraulic action and abrasion 


with an explanation of their role in 


eroding material on the hard (cap) rock 


above softer rock and the creation of a 


plunge pool in the softer rock. Very 


good responses may refer to particular 


rock types but good explanation should 


gain access to level 3 even without this. 


The level 2 answer might name 


processes but give little explanation of 


their impact and not fully relate these to 


differential erosion.  


5 6 9 8 28 












Question 1 (d)(ii) 


 


 



Sticky Note

Candidate has a basic understanding of the geology at a waterfall by referring to the hard and soft rock but does not make reference to why the soft rock is eroded more quickly.



Sticky Note

Processes are mentioned but not elaborated. If the candidate had gone into more detail about how they operate, it might have helped explain the interaction between them and the characteristics of the rocks.



Sticky Note

The candidate clearly knows how a waterfall is basically formed by recognising the hard/soft rock and the influence of named processes. However, the interaction between the two is not established or explained. The answer thus lacks detail although it has some merit. This is worthy of band 2 and was awarded 4 marks.



Sticky Note

Note that the diagram is optional here and the answer could achieve full marks without one. However, the diagram can be used to clarify understanding and add to the written answer.












 


 



Sticky Note

The diagram has helped this candidate because it establishes which are the hard and soft rocks even though a mistake is made in the first sentence. 



Sticky Note

Reference made to the speed of erosion of the soft rock compared to the hard. This shows good understanding.



Sticky Note

The process of corrosion is accurately described and correctly related to limestone which establishes the interaction between river process and geology, or rock characteristics.



Sticky Note

This fully describes the sequence in the formation of the waterfall.



Sticky Note

This candidate explains the interaction between geology and process by referring to corrosion and clearly understands how this leads to the formation of the waterfall. This makes the answer worthy of band 3. It was awarded 5 marks as it lacks a little detail and if a second process, such as abrasion had been explained, full marks would have been awarded.
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Examiner


(ii) Explain why geology and river processes interact to form 
waterfalls.


You  may use an annotated diagram to help your answer.


[6]
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Question 2 (b)(iii) 
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(b) (iii) Explain why people in rural areas of Wales may have less


access to services now than in the past.
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Use the descriptors below, working upwards from the 
lowest band.  


Band Marks Descriptor 


3 5-6


Good understanding of pressures 
facing rural communities for 
service provision and their 
causes. Explanation shows some 
sophistication. 


Meaning is clear. Response has 
purpose, is organised and well 
structured. 


2 3-4


Some understanding of pressures 
in rural areas but response may 
lack depth and detail and only 
have partial explanation. 


Meaning is generally clear. The 
response is structured. 


1 1-2


Valid statements show limited 
understanding of life in rural 
areas.  


Meaning may lack clarity in parts. 
Statements are linked by a basic 
structure. 


0 
Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


This question focuses on the challenges 


presented to rural communities as 


services become concentrated in urban 


areas and the sphere of influence of 


urban areas extends further. Some of 


this pressure is created by increased 


commuting leading to low daytime rural 


populations as residents increasingly 


look to the urban centre for service 


provision and the increase in second 


homes which remain unoccupied for long 


periods. Candidates may also refer to 


the ageing of rural areas as younger 


residents move away, again reducing 


demand for service provision. This is 


illustrated by the closure of post offices 


and shops which cannot remain viable 


and the reduction in provision of key 


social services such as health as smaller 


cottage hospitals are closed and these 


become concentrated in the urban areas 


which achieve economies of scale. 


Schools may also become less viable 


and smaller schools forced to close. 


There will be an associated impact on 


other social services such as community 


centres and public transport etc. 












Question 2 (b)(iii) 


 


 



Sticky Note

The candidate has picked out the process of urbanisation and the impact of the urban sphere of influence encouraging younger people to look to the city for their needs. However, the answer does not then explain how this directly impacts on the rural services and the link is more implicit than explicit.



Sticky Note

The answer begins to hint at the reduction in demand for services which causes them to decline. This could have been further developed.



Sticky Note

Overall, this candidates has demonstrated some understanding of the pressures in rural areas but the focus is fairly narrow and only partially explained. If the candidate had developed a second reason or explained the one given in a bit more detail, it would have been enough for band 3. As such, the answer is worthy of band 2 and was awarded 4 marks.



Sticky Note

A slightly simplistic linkage and explanation.












 


 



Sticky Note

Good understanding and explanation of the urban sphere of influence with good use of correct geographical terms. 



Sticky Note

Explanation of the impact of the extended sphere of influence on people's behaviour.



Sticky Note

A good chain of reasoning which clearly establishes the cause and effect with the impact on demand for named services of people looking toward the urban area for their needs.



Sticky Note

Elaborated explanation and good use of chains of reasoning showing clear explanation.



Sticky Note

Overall, this candidate has demonstrated good understanding of the pressure exerted on rural services by the extension of the urban sphere of influence and the impact on rural services. There is some sophistication in the development of a chain of reasoning. The answer is worthy of band 3 and was awarded 5 marks. The development of one more reason, even partial detail would have gained full marks. 












 


 


 



Sticky Note

Urbanisation and extension of the urban sphere of influence is identified as the cause.  of the decline in named rural services.



Sticky Note

Good use of a chain of reasoning.



Sticky Note

A second reason, the age-selective counter-urbanisation is identified.



Sticky Note

Sophisticated use of a chain of reasoning which clearly identifies and explains the link between cause and effect.



Sticky Note

Goos summary/conclusion and further detail.



Sticky Note

Overall, this shows very good understanding of the pressures facing rural communities and clearly explains the link between cause and effect. The answer uses a sophisticated and well developed chain of reasoning worthy of band 3. The answer was awarded 6 marks.
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(iii) Explain why people in rural areas of Wales may have less access to services now 
than in the past.  [6]












Question 2 (c) (ii) 
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(c) (ii) Study the photographs and the fact box below. 
“The challenges facing all global cities in the 21


st
 century are the same.” 


To what extent do you agree with this statement? Make use of evidence 
from the photographs and fact box. A
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Use the descriptors below, working upwards from the lowest 
band.  


Band Marks Descriptor 


4 7-8 


Balanced analysis and sophisticated 
judgement. A range of detailed and 
elaborated points are made both for and 
against the statement. Information in the 
resources and any implications are 
interpreted and analysed thoroughly and 
perceptively. Conclusion is justified using 
a sophisticated chain of reasoning. 
Meaning is unambiguous. The response 
has clear purpose, is fluent and logically 
structured. 


3 5-6 


Elaborated analysis and reasoned 
judgement. A range of elaborated points 
are made on one side of the argument in 
detail or both sides of the argument in 
less detail. Information in the resources is 
interpreted carefully and used to good 
effect to support the argument. A valid 
conclusion is attempted and is based on 
the evidence. Meaning is clear. The 
response has purpose, is organised and 
well structured. 


2 3-4 


Valid but limited analysis and simple 
judgement. Valid points are made on one 
or both sides of the argument but are 
superficial. A few points are elaborated 
but lacking in sophistication. There is 
valid but limited interpretation of 
information in the resource. Simplistic 
conclusions. Meaning is generally clear. 
The response is structured. 


1 1-2 


Basic analysis. Valid but basic and 
simplistic points made with little or no 
elaboration. 
 
Meaning may lack clarity in parts. 
Statements are linked by a basic 
structure. 


 0 
Award 0 marks if the answer is incorrect 
or wholly irrelevant. 


 


Responses should apply knowledge 
and understanding of a range of 
economic and social factors affecting 
life in global cities. All global cities 
have challenges and whilst many of 
these are similar in all cities as 
illustrated in the photos and the 
factbox, it is often a question of the 
scale of the challenges which 
differentiates between global cities in 
the rich and poor worlds. Both 
London and Mumbai clearly have 
issues with homelessness and a lack 
of affordable and adequate housing 
but the problems are far greater in 
the latter with large squatter 
settlements and informal housing 
leading to social problems with crime 
and health. These will be mitigated 
in wealthier global cities by an 
element of state support and more 
and higher paying jobs. Other issues 
which may be discussed include 
transport with congestion and 
overcrowding prevalent in all cities 
but with likely better structures and 
systems in place in cities like London 
with well organised metro and other 
public transport systems which are 
more modern, safe and efficient.  
 
Some candidates may refer to ethnic 
and cultural issues which may 
develop along with clear zones of 
rich and poor, but again the 
differences will be more marked in 
LICs and NICs compared to HICs. 


 
After awarding a level and mark for the geographical response, apply the performance 
descriptors for writing accurately that follow. Having decided on a band, award a second mark 
(out of 3). 
In applying these indicators, learners may only receive marks for responses that are in the 
context of the demands of the question; that is, where learners have made a genuine attempt to 
answer the question. 
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Band Marks Performance descriptions 


High 3  Learners spell and punctuate with consistent accuracy 


 Learners use rules of grammar with effective control of meaning 
overall 


 Learners use a wide range of specialist terms as appropriate 
 


Intermediate 


 


2  Learners spell and punctuate with considerable accuracy 


 Learners use rules of grammar with general control of meaning 
overall 


 Learners use a good range of specialist terms as appropriate 
 


Threshold 


 


1  Learners spell and punctuate with reasonable accuracy 


 Learners use rules of grammar with some control of meaning and 
any errors do not significantly hinder meaning overall  


 Learners use a limited range of specialist terms as appropriate 
 


 


 


0 The learner writes nothing 
 
The learner’s response does not relate to the question.  The learner’s 
achievement in Writing Accurately does not reach the threshold 
performance level, for example errors in spelling, punctuation and 
grammar severely hinder meaning 


 


End of Question 2  


 5 6 9 8 3 31 


 


  












Question 2 (c) (ii) 


 


 



Sticky Note

Candidate is making a decision based on one side of the argument.



Sticky Note

Justification of the initial viewpoint based on the different scale of the challenges facing London and Mumbai.



Sticky Note

A sophisticated chain of reasoning is giving justification of the viewpoint based on the candidate's own knowledge and reference to the informal economy referred to in the previous question.



Sticky Note

Good discussion of the differences between London and Mumbai to justify decision.



Sticky Note

Candidate offers and argument based on the alternative viewpoint with justification based on the evidence presented in the resource.



Sticky Note

Good detail using evidence from own knowledge and understanding of other challenges facing global cities such as transport.



Sticky Note

This is a well developed chain of reasoning.







 


 


 


  



Sticky Note

Use of data in resource to complement reasoning based on the candidate's own knowledge.



Sticky Note

Overall, the candidate has disagreed with the statement and presented clear evidence and logical, sophisticated discussion based on the resource and their own knowledge and understanding of the range of challenges facing global cities. The candidate has considered both sides of the argument and justified the conclusion offered. This is clearly worthy of band 4 and was awarded 8 marks.



Sticky Note

The candidate was awarded a full 3 marks for the accuracy of communication. 



Sticky Note

Sophisticated chains of reasoning developed.
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Question 1 (c)(iii) 
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WJEC GCSE GEOGRAPHY - UNIT 1 
 


SUMMER 2018 MARK SCHEME 
 


 


Instructions for examiners of GCSE Geography when applying the marking scheme 


 


1  Positive marking 


It should be remembered that learners are writing under examination conditions and credit 
should be given for what the learner writes, rather than adopting the approach of penalising 
him/her for any omissions. It should be possible for a very good response to achieve full 
marks and a very poor one to achieve zero marks. Marks should not be deducted for a less 
than perfect answer if it satisfies the criteria of the mark scheme. 
 
GCSE Geography marking schemes are presented in a common format as shown below: 
 


 


 


 


3 (a) (i) Describe the location of the island of Lefkada. 


A
O


1
.1


 


A
O


1
.2


 


A
O


2
 


A
O


3
 


S
P


A
G


 


T
o


ta
l 


Credit up to two valid 
statements based on map 
evidence. 


Credit accurate use of 
compass points max 1. 


Credit accurate use of scale 
line max 1. 


In western Greece (1) In Ionian 


Sea (1) north of Cephalonia (1) 


275km (+/-10) from Athens (1) 


280km (+/-10) from Thesaloniki 


(1) 


   2  2 


 


 


 


 


 


 


 


 
 
 
  


This box contains the 
sub-question. 


The columns to the right indicate 
the assessment objective(s) 
targeted by the question and its 
mark tariff. 


This box contains the rationale i.e. 
it explains the principles that must 
be applied when marking each 
sub-question. The examiner must 
apply this rationale when applying 
the marking scheme to the 
response. 


This box contains the candidates’ expected 
responses for point-based marking. For some sub-
questions, those with a closed question, this box will 
indicate the only response that is acceptable. For 
more open ended sub-questions this box will 
illustrate a number of likely responses that are credit 
worthy. It may be that this list will be extended at the 
examiner's conference after actual scripts have been 
read. For banded mark schemes this box contains 
indicative content. For further details see below 
under Banded mark schemes Stage 2. 
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2 Tick marking 
 
Low tariff questions should be marked using a points-based system. Each credit worthy 
response should be ticked in red pen. The number of ticks must equal the mark awarded for 
the sub-question. The mark scheme should be applied precisely using the expected 
outcomes box as a guide to the responses that are acceptable. Do not use crosses to 
indicate answers that are incorrect. If the candidate has not attempted the question then the 
examiner should strike through the available dotted lines with a diagonal line. 
 
3 Banded mark schemes 


Banded mark schemes are divided so that each band has a relevant descriptor. The 
descriptor for the band provides a description of the performance level for that band. Each 
band contains a range of marks. Examiners should first read and annotate a learner’s 
answer to pick out the evidence that is being assessed in that question. Do not use ticks on 
the candidate’s response. Once the annotation is complete, the mark scheme can be 
applied. This is done as a two stage process. 
 
Stage 1 – Deciding on the band 
 
When deciding on a band, the answer should be viewed holistically. Beginning at the lowest 
band, examiners should look at the learner’s answer and check whether it matches the 
descriptor for that band. Examiners should look at the descriptor for that band and see if it 
matches the qualities shown in the learner’s answer. If the descriptor at the lowest band is 
satisfied, examiners should move up to the next band and repeat this process for each band 
until the descriptor matches the answer. 
 
If an answer covers different aspects of different bands within the mark scheme, a ‘best fit’ 
approach should be adopted to decide on the band and then the learner’s response should 
be used to decide on the mark within the band. For instance if a response is mainly in band 
2 but with a limited amount of band 3 content, the answer would be placed in band 2, but the 
mark awarded would be close to the top of band 2 as a result of the band 3 content. 
 
Examiners should not seek to mark candidates down as a result of small omissions in minor 
areas of an answer. 
 
Stage 2 – Deciding on the mark 
 
Once the band has been decided, examiners can then assign a mark. During standardising 
(marking conference), detailed advice from the Principal Examiner on the qualities of each 
mark band will be given. Examiners will then receive examples of answers in each mark 
band that have been awarded a mark by the Principal Examiner. Examiners should mark the 
examples and compare their marks with those of the Principal Examiner. 
 
When marking, examiners can use these examples to decide whether a learner’s response 
is of a superior, inferior or comparable standard to the example. Examiners are reminded of 
the need to revisit the answer as they apply the mark scheme in order to confirm that the 
band and the mark allocated is appropriate to the response provided. 
 
Indicative content is also provided for banded mark schemes. Indicative content is not 
exhaustive, and any other valid points must be credited. In order to reach the highest bands 
of the mark scheme a learner need not cover all of the points mentioned in the indicative 
content but must meet the requirements of the highest mark band. Where a response is not 
creditworthy, that is contains nothing of any significance to the mark scheme, or where no 
response has been provided, no marks should be awarded.  
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4 Assessing Writing 
 
The quality of writing is assessed through two separate strands: 
(i) Communicating and organising 
(ii) Writing accurately 
 
(i) Communicating and organising is assessed in items that have a tariff of 6, 8 or 10. 
These responses should be viewed holistically when deciding on a mark band (see stage 1 
above). The definitions below clarify what is meant by the terminology in these descriptors. 
 
Meaning: to have clarity the text must be legible. The meaning of statements should be 
clear and not require re-reading to make sense. 
 
Purpose: the response should take into account what is required by the question. For 
example, evaluation requires consideration of pros/cons or the justification of a decision may 
be assisted by arguments. A suitable tone is adopted for reporting on scientific investigation 
in Unit 3. 
 
Structure: well-planned responses have an overall structure with use of paragraphs to 
indicate portions of the response such as introduction, main arguments and conclusion. 
Chains of reasoning provide a logical structure within paragraphs. Signposting links sections 
together and is used to assist the reader.  
 
(ii) Writing accurately takes into account the candidate’s use of specialist language. It also 
takes into account the accuracy of the candidate's spelling, punctuation and grammar. This 
assessment is restricted to specific items (one item in each unit). The descriptors for writing 
accurately are printed in the mark scheme for each relevant item. In applying these 
descriptors learners may only receive marks for responses that are in the context of the 
demands of the question; that is, where learners have made a genuine attempt to answer 
the question. 
 
5 Marking Core and Options questions 
 
Core Themes  Mark both questions 
 
Options Themes  Learners are instructed to answer one question. If the candidate has 
responded to both questions then the examiner must mark both questions. Award the higher 
mark that has been attained. 
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(c) (iii) Study the photograph below.  
Evaluate one or more strategies for managing landscapes in Wales. 


A
O


1
.1


 


A
O


1
.2


 


A
O


2
 


A
O


3
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l 


   6   6 


Use the descriptors below, working upwards from the 
lowest band.  


Band Marks Descriptor 


3 5-6 


Good evaluation of one or more 
strategies for management of 
landscapes showing clear ability to 
evaluate and present evidence to 
justify points made. Answer is 
balanced between advantages and 
disadvantages of one strategy or is 
able to give reasoned evaluation of 
two or more strategies against 
each other.  


Meaning is clear. Response has 
purpose, is organised and well 
structured. 


2 3-4 


Some evaluation of one or more 
strategies for managing 
landscapes but may lack evidence 
and/or objectivity. Imbalanced 
between advantages and 
disadvantages of one strategy or 
between different strategies if more 
than one is considered. 


Meaning is generally clear. The 
response is structured. 


1 1-2 


Valid statements lack 
depth/breadth and with only limited 
evaluation.  


Meaning may lack clarity in parts. 
Statements are linked by a basic 
structure. 


 0 
Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


 


Responses should apply knowledge and 
understanding to one or more strategies 
used to manage landscapes and attempt 
to evaluate their relative merits. 
Arguments should be based on evidence 
and at the top level there should be a 
clear statement of the characteristics of a 
successful strategy compared with its 
disadvantages or with the deficiencies of 
others. Note that candidates can 
evaluate just one strategy or compare 
more than one with each other. Either 
way could lead to level 3 depending on 
the sophistication of the evaluation. 
Clearly the context will depend on the 
nature of landscapes studied but expect 
to see reference to national parks either 
as a strategy in their own right or to 
various management strategies within 
national parks. Reference could also be 
made to SSSIs. Evaluations may be 
based on economic factors such as cost 
in relation to perceived benefits or on 
sustainability issues. 


Remember that you are not awarding 
marks for factual content and the answer 
must be assessed on the candidate’s 
ability to evaluate strategies. As a guide, 
look for balance between advantages 
and disadvantages at the top band and 
focus on one or other of these in band 2. 


       


  












Question 1 (c)(iii) 


 


 



Sticky Note

One strategy outlined with benefits



Sticky Note

Simple evaluation as a counter point to fences.



Sticky Note

A second strategy outlined, with advantage.



Sticky Note

Disadvantage of second strategy outlined in simple terms.



Sticky Note

A third strategy outlined and evaluated in simple terms.



Sticky Note

Overall, this answer presents a clear attempt to evaluate by giving advantages and disadvantages of three simple strategies with some evidence evidence given to justify the points made. There is balance between the advantages and disadvantages which demonstrates good evaluation worthy of band 3. This answer was awarded 6 marks.












 


 


 



Sticky Note

Candidate has made reference to the resource and suggested the benefit of this strategy. However, there is no reference to any disadvantages which means that it is not fully evaluated.



Sticky Note

A second strategy described.



Sticky Note

Reference to a third potential strategy gives the answer some breadth, but again, there is no attempt to either compare these strategies with each other or suggest disadvantages of any of them. As such, there is limited, if any, evaluation.



Sticky Note

This answer is well written and quite detailed but it does not offer evaluation by either comparing strategies or giving a balanced appraisal of advantages and disadvantages. As such, the answer is worthy of band 2 and was awarded 4 marks.
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6
Examiner


only
1C(iii) Study the photograph below.


Signs for visitors to Snowdonia National Park


		 Evaluate one or more strategies for managing landscapes in Wales.	 [6]
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